BREO—2)—95T - ALUT—

7R
HEEES
H A X 7K /N % +
212 HIER RC HIEE RC HIF RC B tRC | Bl RC | =EWFf RC
= FIFERSAETIV | 21—V TEE | BIGERNERTI | BIEESLHRTIL VEDIN Sl ] =B IFESRTI
1 2 3 4 5
Bl =
6 7 8 9 10 11 12
(HADH)
1om~2ma0n| P R
13 14 15 16 17 18 19
(H A DH) (HA2DH)
128~ 128530 128~ 120530 Bl =
20 21 22 23 24 25 26
BDH A=’ EFE
27 28 29 30 31
(H A2 DH)
1285~ 128530

éj\

CE)A—=IT7VTDNANRRI4BUREL>TEYFET,
BISBICHENHELGWA XERENFBENEIEEDH K. A—I7vTOTERE
FAHLLBRELLBRLLEITFES,




THITEPER

SH74E6/8278

BBHEO—2)—95T

4H 11H 18H 25H
= £ B E £
RS R ER Ll
&
Bt
5
b50) B E T ST A =
70455 L | ZEMERE |EAstzaEmERs g = I=k=]
48 =R IRES ILTEEER. KEREISR. SkEERE
118 ARELAFER HIEABESCTTER. KTFEBHESFELTFER
TATIRES RE RIFLVEFERER. ABNEEESTERER
fiw 188 HoBSE BEETRE . NI ARSE
% 25H =&REITE RTFILJALL T4 = 15
18 * B 45
78 /A ]
78 t 4
= 9H EREEHITETH
16H PARAY
& 178 RANREISRY
22H X =2
&




